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극미세영문법 
[13-6] 컨닝페이퍼

1. 다음 주어진 문장과 의미가 같도록 빈칸을 채우시오.
    ① They are too busy to take a break.
       = They are so ________________________________________.

    ② This computer was too complex for me to handle.
       = This computer was so _______________________________.

    ③ She was so old that she could see the movie.
       = She was old _________________________________.

2. 다음 두 문장의 의미가 같도록 빈칸을 채우시오.
    ① Paul is so rich that he can buy a luxury car.
       = Paul is ________ ___________ _________ buy a luxury car.

    ② I was so tired that I couldn’t read the book last night.
       = I was __________ tired ________ read the book last night.

    ③ The bag is too expensive for me to buy.
       = The bag is so expensive __________________________________.

     

3. “나는 명품 자동차를 구입할 만큼 충분한 돈이 있다.”를 영작하려 한다.
     빈칸을 채우시오. (동사는 buy 이용하기)
      
     I have ____________ money _______ __________ a luxury car.
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4. 어법상 틀린 부분을 고쳐 쓰시오.
   ① I have time enough to take a nap.
      ________________________________

   ② The hall is enough big to contain 100 people.
       ________________________________

   ③ The dog is smart to enough open the door.
       ________________________________

   ④ I was too fast that I could run 5 km in 20 minutes.
       ________________________________
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1. [정답] 
   ① busy that they can't take a break.

   ② complex that I couldn't handle it.

   ③ enough to see the movie
 

 
2. [정답] 
    ① rich enough to      
    ② too , to
    ③ that I cannot buy it. 

3. [정답] 
    enough, to buy 

4. [정답] 
   ① time enough -> enough time  
      [해설] enough가 명사를 꾸밀 때는 명사 앞에 위치한다.
       
   ② enough big -> big enough

   ③ smart to enough open -> smart enough to open

   ④ too fast that -> so fast that

[13-6] 정답 및 해설


